
6 – 3 = _______

8 – 5 = _______

9 – 2 = _______

When we use pictures to subtract, we start with the whole number and 
then cross out the pictures to show what we are subtracting.

Example: 6-2= 4
Count how many pictures are not crossed out. Write your answers 
below.

  8
 – 2

  5
 – 1

  7
 – 3

  10
 – 4

  9
 – 6

  8
 – 4

4

Cross out the number of pictures you are taking away and then count 
how many are left. Write your answers on the lines below.

  6
 – 4

8 – 3 = _______

5 – 4 = _______

7 – 2 = _______

6 – 2 = _______

7 – 5 = _______
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